
)c (GeV/
T

p
1 10

3
v

0.04−

0.02−

0

0.02

0.04

0.06

0.08

0.1

0.12

0-10%

)c (GeV/
T

p
1 10

3
v

0.04−

0.02−

0

0.02

0.04

0.06

0.08

0.1

0.12

10-30%

)c (GeV/
T

p
1 10

3
v

0.04−

0.02−

0

0.02

0.04

0.06

0.08

0.1

0.12

30-50%)c (GeV/
T

p
1 10

2
v

0

0.05

0.1

0.15

0.2

0.25

0.3
| < 1y, |0D + 0Prompt D

| < 1ηCharged particle, |

CMS

)c (GeV/
T

p
1 10

2
v

0

0.05

0.1

0.15

0.2

0.25

0.3 0D + 0Calculations for prompt D
LBT
PHSD
TAMU

SUBATECH
CUJET 3.0
TAMU SMCs

)c (GeV/
T

p
1 10

2
v

0

0.05

0.1

0.15

0.2

0.25

0.3

 (5.02 TeV)-1PbPb 0.58 nb


	Contents
	Page 1


